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AQA A2 Business Studies

3 Marketing strategies

Using the marking schemes

These answers give some possible responses, but not all. There are many ways in which most of the questions can be answered, and the marking scheme cannot include all of these. The answers provided are only some possible suggestions. There is one exception to this, however. Questions based on calculations do have definitive answers and these are provided, although there may be more than a single way to arrive at the correct answer. Numerical questions of this type will only appear on Unit 3 papers.

Ask your teacher or lecturer how to use the marking schemes to select the appropriate level for your answer. 

Question 1

Knowledge, application and analysis

	Level
	Descriptor
	Marks

	L5
	Good analysis 

AND 

Good application
	10–9

	L4
	Good analysis or good application

AND

Reasonable application or reasonable analysis
	8–7

	L3
	Good analysis or good application

OR

Reasonable application and reasonable analysis
	6–5

	L2
	Knowledge plus reasonable application

OR

Reasonable analysis
	4–3

	L1
	Answer contains relevant knowledge — basic points and/or evidence of understanding of relevant term(s)
	2–1


Answers may include the following:

· Marketing objectives are targets for the marketing department, often expressed quantitatively with a stated timescale.

· The company’s recent 20% decline in profits to £12.4 million means that it needs to take urgent action and its marketing objectives should reflect this.

· The company has lost a lot of market share (15% over 2 years) and this means that it is vital to improve its marketing quickly — setting objectives is the first step.

· A new CEO is likely to have different ideas and to set new objectives for the business and its marketing department.

Question 2

Knowledge, application and analysis

	Level
	Descriptor
	Marks

	L5
	Good analysis 

AND 

Good application
	13–12

	L4
	Good analysis or good application

AND

Reasonable application or reasonable analysis
	11–9

	L3
	Good analysis or good application

OR

Reasonable application and reasonable analysis
	8–6

	L2
	Knowledge plus reasonable application

OR

Reasonable analysis
	5–3

	L1
	Answer contains relevant knowledge — basic points and/or evidence of understanding of relevant term(s)
	2–1


Answers may include the following:

· Diversification is selling new products in a new market, and it is a high-risk strategy.

· It is worrying that the company does not want to engage in a joint strategy in these new markets as this might be one way of reducing risk.

· The company does not have a reputation for producing men’s clothing and its brand name might not be known in countries such as China and Brazil, making it tough to establish a sufficient market share.

· Incomes in these countries are rising quickly and Yenix sells luxury branded items which are attractive to people with rapidly increasing spending power. This could result in a successful expansion.

· The UK market for fashion clothing is saturated and the same is true of most Western markets. Thus a move to less competitive developing market is a sensible one.

Evaluation

	Level
	Descriptor
	Marks

	E3
	Judgement with well-supported justification. Answer has a logical structure throughout, with effective use of technical terms.
	5–4

	E2
	Judgement with reasonable attempt at justification. Evidence of a logical structure and some use of technical terms. 
	3–2

	E1
	Assertion or judgement which is unsupported. Reasonable evidence of a logical structure and little use of technical terms. 
	1


Themes for evaluation may include the following:

· This is not a good decision because the company is entering a new market with new products, thereby unnecessarily increasing its risk. It would be more sensible to sell its better-known range of women’s clothing in Brazil and China.

· The company is more likely to succeed in markets (both geographical and product) which are less saturated.
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